HUREh R fBIR =

15

—|

7 B RAKH R TR A

B REAK) BE KA H R

WMEHW: 202444 A 11 H

Fs i H BURERTE] | B fr PriERE K gs R &1E
1 2K i B 4.10  8:00| CFU/100mL ANEAS H Ao H
2 KgAK 4.10  8:00| CFU/100mL AN K H
3 YSE 4.9 8:05| CFU/mL 100 24
4 {603 4.11  8:10 53 15 <5
5 VI E 4,11  8:10 NTU 1 0.17
6 I=RAIIR 4,11  8:10 / TR, TR "
7 IR 7 WA 4,11  8:10 / o o
8 |mELIREhIEE (LLOoITH) |4. 11 8:10( mg/L 3 2. 06
9 & (PANTt) 4.11  8:10] mg/L 0.5 0. 06
10 —EAE 4.11  8:10] mg/L / 0.05
11 T 4.11  8:10] mg/L / 0.03
PR PR TR RV K DAERRHEY  (GB 5749-2022)
VSR & =
T H R AKE R iAE A Bl
B AR KA HiRkRE
HUREHE S fh36 =
Fs i H BURERTE] | B fr PriERE g R &1E
1 2K i B 4.10  8:00| CFU/100mL ANEAS H Ao H
2 K4y IR 4.10  8:00| CFU/100mL AN Rifs ARASE H -
KH &
3 ST 4.9  8:05| CFU/mL 100 0 a5
. ] . REHT
4 {603 4.11  8:10 53 15 <5 bofind
5 VI E 4,11  8:10 NTU 1 0.15 MR
6 SR 4.11  8:10 / TR Ak i , :H%%
7 AR T LA 4.11  8:10 / o I SR 15
e e FsbR
8 |mifhlR L (LLOoIT) 4. 11 8:10 mg/L 3 2.06 @gﬁ&gﬁ
5K Bl 1] = ok
9 AN 4.11  8:10| mg/L  [30min, HJ K< 0.16 B
0.8 = T AR N
.0y /\E/O.l E%EEEE
/j%ﬁ‘
5K $E b} ) = Ko
10 WA 4.11  8:101 mg/L  |[30min, HJ K< 0. 08
2, E=0.3
PR ARAERRHE:  CETRIRAK AR UE)  (GB 5749-2022)




